Nth terms
Copy and complete the following table to show the first 6 terms of each of the given sequences:

	nth term (position-to-term rule)
	sequence
	term-to-term rule

	n + 1
	2, 3, 4, 5, 6, 7, …
	+1

	2n - 1
	
	

	3n + 5
	
	

	4n - 3
	
	

	4 - n
	3, 2, 1, 0, -1, -2, …
	-1

	6 – 2n
	
	


Can you see the connection between the number that multiplies the n in the nth term expression and the term-to-term rule?

Use this connection to predict what the term-to-term rule would be for the sequence having nth term kn + t.

Test your prediction by writing down the first few terms of this sequence.

